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LY.

it atf 3 T BAwUTE i AR Fha T Y| 5,

wgl, “ag W far f vt & g1 it e T8
20

e ¥ W =afe 8, A ot Al & =
TEg R ?

(a) TR

(b) i & 5

(e) %F\,!Fl(Cousin)

d =&

38 5 cm B I €9 99 T gEl @ w9
wd ¢ 13R i g P, Q 3R E, A B
PQR %1 89%d fha sq.cm & ?
253

6

2543
4

253
(c) —2—

@ 25V3

TR YT ABC 50 YR 6 . B=90°R |
BC W fiig D 58 y&r g1 vt @ 6 B ABC
s DBATHEI § 1R AB: BC=m:n &, @
A ABC : A ABD HI1 2, Tl A fiy@ % aa%a
%! guiiar 8 ?

(a) n:m

(b) n2:m?

(¢ (m+n):n

d (m+n)2:n2

frdft w2 dg@ #, T 28 m @=1d i Hift S
FeaieR TR g | i A W TH W & q6i
RN AT I EN AR F aA F 2 |
ﬂ%t@ﬁaﬁrémémm%,?haw%arﬁaﬁz
¥ 3G & B I (sq. m T) T &, F&l aF
i TET Wt R ?

(a) 847

(b) 851

(c) 693

(d 654

(a)

(b)

(2-A)

T ARAHR SaR H G AW & 9/ I 3§
fomfva fopar mar @ st o ofesat § ol
Wedrdgat g I MFadatm R
q I o @ | AR, w0 afka, dF T Sered §
Crgvoc i o kic R R R R R UR:]
9 YR T ST ¢ fh ) A il i vhawE
T T T T @ A T wEeE 9ve g 2
(a) 2
b 4
¢ 6
@ 8

TS sma ¥ e ° fFafafea d &
PH-AT/FA-Q woT g B/E 2

1. N H IgEN Ugfd g had qd

1 g & Jg T TR AGHAY A
g fage & R0 wra @ Iaw fed
P i e dFe A R |

2. ¥Nd 9K R osa R oft fawy #
R 3 & fore wife arffa et 2 |

3. WNE H IgEEm T fumsea &
frifera 7 et 7

4. NG F gENUT TH IR | Afwan 37
urg F iy F forg it Sl @ Wt R
9« a% f% dEg % Q1 e & G
T 36! IHIET TE o far s @ |

9 R U Fe w1 WET W A IW g

(a) Had 1

(b) @ 1 3R 2

(c) %aw 1,23 3

(d) Had 2,33 4
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1. Pointing towards a photograph Mr. Ajit said, | 5.
“She is my father’s wife’s son’s only sister.”
What is the relation of the person in the
photograph with Mr. Ajit ?

(a) Daughter

(b) Mother’s sister
(¢0 Cousin

(d) Sister

2.  Three circles of radius 5 cm each, touch each
other. If the points of contact are P, Q and R,
then what is the area of the triangle PQR in
sq.cm ?

@ 258
6

@ BB 6.
4

@ 2508
2

@ 253

8. The right-angled triangle ABC is such that
ZB = 90°. Point D is picked on BC such
that triangles ABC and DBA are similar.
If AB : BC = m : n, what is A ABC : A ABD,
where A denotes the area of a triangle ?

(a) n:m

(b) n2:m?2

(¢ (m+n):n
(d (m+n)2:n2

4. On a large ground, there is a straight tall
vertical wall of length 28 m. A goat is tied to a
point on the ground which is at the middle of
the wall, using a rope. If the length of the
rope is 21 m, what is the area of the region
(in sq. m) around the wall that the goat can
access ?

(a) 847
(b) 851
(c) 693
(d) 654
FWLB-F-GAI (3-A)

A rectangular wall is divided into four squares
of equal size where there are two rows each
having two squares. The top left square is
coloured with green. If, including green, there
are three colours available and each square is
coloured using any one of these three colours
such that no two adjacent squares get painted
with the same colour; then how many colour
combinations are possible ?

(a) 2
(b) 4
0 6
d 8

Which of the following statements about
National Emergency is/are correct ?

1. A Proclamation of Emergency may be
made by the President only when the
security of India or any part thereof is
threatened by war or external
aggression or armed rebellion.

2.  The Government of India acquires power
to give directions to a State on any
matter.

3.  The Proclamation of Emergency does not
suspend the State legislature.

4. The Proclamation of Emergency can
continue for a maximum period of six
months at a time only if approved by
resolutions of both the
Parliament.

Houses of

Select the correct answer using the code given
below :

(a) 1lonly

(b) 1and2only
(¢) 1,2 and 3 only
(d) 2,3 and4only
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(a) GHE & QI WS % HH-G-HH 100 T
L gl weRa I ueR @ e

frafafiee & @ w19 (SAARC) ¥ W IR
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1. SR uRmn & S % wed H SgEn
T SR Sfie i TurET # gUR S

2. o wfimm F W F U AR
el w sgrET T R @ uge

TR STeAE hI Tega S S R | .
(b) o weEd 6t wfafn (ST =T % Q 3. omdl fovam, wmw R wwgw H
=i 3R & 9Ra faftEn) grr AT B qHFA T ANGH AT
YT T A0 T St @ | 4. HMNT AHATE F GEH A B e §
© R Wil @ P w o 2 R B
=AY FEER F A ] A v J A9 R g2 F1 i R wd I ghe
T 8, @ Al A ROE F Emam g 0 @ 99 132
W W g ® famm R smom et 7 (b) Fad 1,23 3
T dferd 8 | (© 1,2,33M4
@ TR g s S T oty R i d Faa 334
TR, AT g e | 10. T e @fie sl & Wa vg, fraffa
| e fr=fafaa frg faftr @ o fen srar @ 2
frafafes § @ wra 6t G20 wafeant =0 (a) o gEu-Fee g @ e =
27 (b) Hem fafy
& (@ & 9 A fafmm ot womm
1L i o R A IR W
2. wignsit % g # fowm @) e
3. vy fam 11, FrafaRen sver (ef) il w fer
4. Fefves ardsfs smewE e
e Sy N 2Cu,0 (s) + Cu,S (s) — 6Cu (s) + SO, (g)
, . Freafafea o @ w9 IR o IvEEw F
(a) A 13N 2 ¥ 3 franshier efishisr # vg=nfag -
(b) Fad 1,23 3 (a) Cu(l)3R Cu,SH S
© e 33ha () Cu3 SO, %S
(© Cu3NSO,® O
@ 1,2,33M04 (@ Cu(®) 3N SO, O
FWLB-F-GAI (4-A)
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7. Which one of the following statements with
regard to the impeachment of a Judge of the
Supreme Court of India is not correct ?

(@) A motion addressed to the President,
signed by at least 100 members of both
the Houses of the Parliament is
delivered to the Speaker.

(b) The motion is investigated by a
Committee of three (2 Judges of the
Supreme Court and a distinguished
Jurist).

(c) If the Committee finds the Judge guilty
of misbehaviour or that he suffers from
incapacity, the motion together with the
report of the Committee is taken up for
consideration in the House where the
motion is pending.

(d) The Judge will be removed after the
President gives his order for removal.

8. Which of the following are India’s G20
priorities ?

1. Green Development

2. Women-led Development

3. Climate Finance

4.  Digital Public Infrastructure

Select the correct answer using the code given

below:

(a) 1and2only

(b) 1,2 and 3 only

(¢) 3and4only

d 1,2,3and4

FWLB-F-GAI

10.

11.

(5-A)

Which of the following are the objectives of
SAARC?

1.  To promote the welfare of the peoples of
South Asia and to improve the quality of
life

2. To promote and strengthen collective
self-reliance among the countries of
South Asia

3. To contribute to mutual trust,
understanding and appreciation of one
another’s problems

4. To work towards ending cross-border
terrorism

Select the correct answer using the code given
below :

(a) 1and2only
(b) 1,2 and 3 only
¢) 1,2,3and4
(d) 3and4only

Pure, demineralized water, free from all
soluble mineral salts is obtained by which of
the following method ?

(a) Passing water through microfiltration
membrane

(b) Calgon’s method

(c) Passing water through a cation
exchange and an anion exchange resin
bed

(d) By boiling
Consider the following redox reaction :
2Cuz0 (8) + CugS (8) —— 6Cu (8) + SO, (g)

Identify the species among the following
acting as oxidant and reductant, respectively :

(a) Cu(l) and S of Cu,S
(b) Cuand S of SO,

(© CuandO of SO,
(d Cu(l)and O of SO,
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12. Wiz ¥ s ¥ wew # PR §
P I G 7T R ?

(a)

(b)

(©)

@

frm (Cas0,) W stew fowaar # frem
¥ diife & onged A srafy ag weh ? |
woed fighm ¥ ogER, SeEifa
el % S w1 & IR wW A S«
HIN & I &, q gy dide N Fawr
w08 el R

difz F it g % o e fRem

Tofrehe Iawerf 2 |

Jifem e % R seRRmEm fufedre
3 gredfrm Riftvre Swerh € ot w7
v O ad HaRa A ?

18. 7t W faemm ot o=t § @ SR waivw
TR W § 9w S 2

(a)
(b)
(©
(d)

fuferpta
v
e
SHterdo

14, Frafifge & 4 St ag iwdom & @
oY sfifsh 77 et 2 2

(a)
(b)
(©)
(d

FWLB-F-GAI

Ti

Fe

Pt

Zn
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15. i<t fa oo o3 Wy & 9 ¥ Fafafew
A R foEm fifd .
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Y 6 A w e et & ww
THH % IHER, Tt Sfa FFH FA
T Rrersdd it AR g Ry e o @
¥ TF AROIGR 1 femn sHmn e o |
| WU I q@ W w1 § fem
IR F o1, fam wF 6 I e
# e ok dogr A, FeEd gw
TeATet < g off |

wﬁwmﬁm%aaw%mﬁﬁ
gidat et < 78 of R wrawm § w
A Iehivt ¢t i 7§ ot |
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ARt W wig afr Tl odh o, fg

o R fufa o o |

wao sEmeERl ¥ w|e i gffwan ok
e wwel # aftfe weet ¥ i
goT way wonfa foman &

A qffwenett & gg & gwt w1 ff Rew
R m R

39k Al § ¥ BAA 7@ 2

(a)
(b)
(©
(d

A)

Fad 1,2, 33 4
Fa@2,3,43R 5
Fa 3,4,53 6
Fad 1,2,53MW 6
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12. Which one of the following statements is not
correct regarding the setting of cement ?

(a) The addition of a small percentage of
gypsum (CaSO,) lengthens the setting
period of cement.

(b) According to the colloidal theory, gels of
hydrated silicates are formed and when
these gels harden, the set cement loses
strength.

(¢) Tricalcium silicate is responsible for
initial setting of cement.

(d) Dicalcium silicate and tricalcium silicate
are responsible for the final strength
which occurs in about a year.

13. Which one is the most abundant of all the
elements on Earth ?

(a) Silicon

(b) Aluminium

(¢) Carbon

(d Oxygen

14. Which one of the following metals does not
react with oxygen directly ?

(@ T

(b) Fe

() Pt

d 2Zn

FWLB-F-GAI (7-

15.

A)

Consider the following observations about the
largest stupa at Sanchi :

1.  Going by information available from the
inscriptions on the railings of the stupa,
the construction of part of one of its
gateways was financed by the Guild of

Ivory workers.

2.  Inits original early form, this stupa was
plain except for the stone railings and
the gateways, which were richly carved.

3.  The panels on the four gateways contain
sculptures only in the front and have no
sculptures on the rear side.

4. In 1918, when the stupa was discovered,
all of its four gates were intact but the

mound was in poor condition.

5.  Art historians have established clear
connections between the sculptures of
the stupa with events described in
Jataka Tales.

6.  War scenes have also been depicted in |
these sculptures.

Which of the observations given above are

correct ?
(a) 1,2,3and4only
(b) 2,3,4and5 only
(¢ 3,4,5and 6 only

(d 1,2,5and 6 only
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16.

17.

18.

FWLB-F-GAI

Frafifaa #f @ A3 gu od gafea & 2

(3@ /ge7T) (FreTarey)
1. g gm A @M : 4 w9 CE
i
2. ah:ﬁmsﬂwf%mm : 63t YIaTsdl CE
ERIG]
3. fowrgca w ggEw 54l YAeg CE
4. SEME H gaRa : 63t WaTsd! CE
5. fohifd A @w wofer @ 7df w9t CE
6. gy 1 Higuemn :  8df Yarsdt CE
= e T Fe =y W T W T
(a) $ad1,23 3
(b) Hae2, 33N 4
() Had4,53d 6
(d *Hada1,33M5
fefRfas seai T A S ad R 2

(a) W% F IH REmeE % @ & foe
Tk SRi, T SUNET ot gt R
fafaft demww =1 fem =N
AaefiEr & g o |

R SgThar ®1 fowm e d
el weenfed BCE # gat o1 |

s TR o, s &1 Wi aRa &%
2feroft W § sy w9 @ A @ |

sreforer # gufuifa Pefafee & & sl
FEHeN TN & e et W e
T8 @ ?

(a) SioRET & oy & &1 W HET

(b) W T A TR FH W FEAT

(©) TS H T § T8 FAT

@) A wfufeg & v w0

(b)

(o

d

19.

20.

21.

(8-A)

Gehgeh! HIfHIAT & Fgh & Afaftew frw o
¥ A9 AT, TeaEm AR WA B § 2

(a) Tiesit

(b) ST

(0 wTEEEm

@ —gFaenam

T wverwwr % forg, Wi anedt it vewm 3k
e frad gro frr s 2 2

mRNA

snRNA

miRNA

tRNA

(a)
(b)
(©
(d

wiefeal §, fem am ff FARmet & e
gt e i sy et
Frofenfiertor & wewayel sy €d 2 2

(a) wltEr

(b) A

() da

(d IFq

et domen 3@ e 6 2t fFe w Fk
F ] 2

(a)
(b)

TR Figyl, a9uH 3R pH
meaﬂtpﬂ“’&ﬂm
R &

Faer pH AN aR R, fhg @R |ign
R

Faa A R, fhg pH 3k stawa "
R T

(©

(d)
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16. Which of the following pairs are correctly
matched ? ,

(Inscription / Event) (Time Period)

1. Prayag Prashasti 4th century CE
by Harishena

2. Chinese traveller 6th century CE
Fa Xian’s Account

3. Mudrarakshasa of 5th century CE
Vishakhadatta

4, Harshacharita of 6th century CE
Banabhatta

5. Aihole Prashasti of 7th century CE
Ravikirti

6. Kavirajamarga of 8tk century CE
Amoghavarsha

Select the correct answer using the code given

below :

(a) 1,2and3only

(b) 2,3 and 4 only

(¢) 4,5 and 6 only

(d 1,3 and5only

17. Which one of the following statements is
correct ?

(a) Brahmi, used for writing many Ashokan
inscriptions, shows local variations.

(b) The system of hieroglyphic writing was
developed in ancient Mesopotamia.

() The system of cuneiform writing
developed around 3™ millennium BCE
in Egypt.

(d) - An ancient script, Kharoshthi was
widely used in the southern part of
India.

18. . Which one of the following activities was not a
part of the daily time-table for a King as
prescribed in Arthashastra ?

(a) Receive reports on defense

(b) Visit the town incognito

() Receive revenue in cash

(@ Consult his Council of Ministers

FWLB-F-GAI (9-

19.

20.

21.

22.

A)

Which organelle other than nucleus fin
eukaryotic cells has its own DNA, ribosomes
and proteins ?

(a) Golgi

(b) Mitochondria
(¢) Lysosomes 7
(d Nucleosomes

For protein synthesis, the amino acids are

recognized and carried by :
(a) mRNA

(b) snRNA

(¢) miRNA

(d) tRNA

In vertebrates, smooth endoplasmic reticulum
in cells of which organ plays a crucial role in
detoxification of toxic compounds ?

(a) Spleen

(b) Intestine

(¢) Kidney -
(d) Liver

The rate of an enzyme catalyzed- reaction
depends :

(a) wupon substrate

, concentratio_n,
temperature and pH. A

(b) only on substrate concentration and pH,

but not on temperature.

(c) only on pH and temperature, but not on

substrate concentration.

(d) onlyon température, but not on pH and

substrate concentration.

https://www.pyqgonline.com/
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28.

24.
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= ot wEeeE o TmE @ W §,
ﬂﬂﬂh:

w3 # e i @ o wgwen
A T R § e far g |
e T wfeett § e @, fRg
T ey Hifdrehred & e ? |

wH ok wmEEeE At i ek uew
HIRmwRT § Remm A €1

®E IR WEHSA Qb Fad ey
FfRee § R R €1

(a)

(b)

(c)

@

¥ T o #, fEvpet (SiedwE) R
v oot @ wedt } | fom stfart &, i

3 T T SRR & |1y AT
IE4 HQ F |

wh ¥ HeAH | HifEE § WeE @ 9.
% fore feamy) waaof € |

Ty 6 & FrE STRATTETES g ¢ |
fampait &t ™ e (FrET) # i
21

(a)

(b)

(0
d)

25. gE{ veaa den fea W Ha o 2

@ FH W a@ W g ik ik
WE-INEH JTTT il T |

(b) aTyE R Wi IEE % R w T
3 7E 5 i |

(¢ T g R Aren-fofar f it w

@) WEE I § ot e ol AR F
Jaatt 3t wwy e # gfg W

26. TH WA =u fafew wrR @wh & Ix

(10-A)

217.

28.

Tlew ¥ | 98 S frat weffa @ 2
(a) AR Gge o, fhg yram agen & aff
(b) WM wged o, fhg =R sgea § T
(c) WM Hgei 3 SR Fged g1 §
() T PIaW age #, T @ SR §geH §

frafafge & 4 #9R, wrdg rdfswse &
3= gf guF & 2

1. T 6 @ua

2. IIP UMM aHi®

3. 10-affg SH-AF (G-sec) WfAwA

A w7 F2 H T W TE@ W g
(a) Had 1

(b) Fad 13N 2

(c) ast 23R 3

@ 1,23R3

T A o AR e e # fdw
2 ot I faw ¥ s iy iR s
PRt adRmad 2 2

g 3 Wd 1 GDP w1 e §, g
aa B T I i e T R

I AT WA h T A = R,
fébg s it GDP T e T R |

IqH A™ WA H GDP M U 3
eieaRic b 3

It T 7 @ WRA B GDP = e R,
T & sHehl U 3 & |

(a)

(b)

(o)

Gy
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"Both starch and glycogen are made up of

glucose, however :

(a). starch is present in liver and glycogen is
present in red blood cells.

‘ ”(b)‘.' glycogen is made in animal cells, but

.7 starch is made in plant cells.

“ - (¢) -~ both starch and glycogen are present in

animal and plant cells.

> (d) - both starch and glycogen are present in

plant cells only.

In some viral infections, number of platelets
are reduced quickly. Platelets are essential
because :

(a) -they along with red blood cells carry
oxygen.

(b) platelets are important to carry food to
cells through blood.

() platelets remove carbon dioxide from
blood.

(d) platelets have a role in blood clotting.

. The focus of the Second Five Year Plan was :

(a) establishment of a self-reliant and
self-generating economy with emphasis
on agriculture. )

(b) rapid industrialization with emphasis on

¥~ the development of basic and heavy
industries.

.~¢) . removal of poverty and attainment of
' self-reliance.

~(d) acceleration of food-grain production and
"' increase in employment opportunities
and overall productivity.

(11=-A)

An Indian businesspeérson buys shares im-a
British car company. This transaction will be
reflected in :

(a) Balance of Trade, but not in Balance of
" Payments. - ' :

(b)  Balance of Payments, but not in Balance
of Trade.

(c) both Balance of rPéyments and Balance
of Trade.

(d) neither Balance of Payments nor
Balance of Trade.

Which of the following are High Frequency
Indicators of the Indian economy ?

1. Power Consumption
2. ITIP General Index

2 10-year G-sec yield

Select the correct answer using the code
below. V

(a) 1lonly

(b) 1land2only
(¢) 2and 3only
(d 1,2and3

Suppose an Indian citizen makes an
investment abroad and earns a positive return
on her investment. Which of the following is
correct ?

(a) Her income is part of India’s GDP, but
not part of India’s national income.

(b)  Her income is part of India’s national
income, but not part of India’s GDP.

() Her income. is part of both India’s GDP
and national income.

(d Her income is neither part of India’s
GDP, nor its national income.
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30.

31.

32.
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afk RBI g wfe Tt Pfe sgme wern
AT B, A Srefeerc # g < gfd -

(a) feafda @oft |

(b) © T |

© ¥ gfgant

(d) W AR I 927 |

anefla auf w1 geu wnw fafafeas & &
HAATR ? .
(a) @ﬁwﬁsﬁmﬂﬁéﬁél
(b) Shareft $u7 F TgT A TYHSA § FreA,
;@maﬂtw%mﬁﬁﬁ@%
|

(© WGl % weg Wi % wR dga AW
I B ¥ | |
(@) geft % SrgHeT § v Bd § |

TR H TF I $o wEn S R R
T AR A} | @i e 9eE
AR ?

(a) WA

(b) TTEGH

(c) e SFATFATES
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29. If the Cash Reserve Ratio is lowered by the
RBI, supply of money in the economy will :

(a) remain unchanged.

(b) decrease.

(¢) increase.

(d) have ambiguous impact.

80. Which one of the following is the main cause of
the acid rains ?

(a) The Sun causes heating of upper layer of
atmosphere. '

(b) The burning of fossil fuels releases
oxides of carbon, nitrogen and sulphur
in the atmosphere.

(¢ The electrical charges are produced due
to friction amongst clouds.

(d) The atmosphere of the Earth contains
acids.

81. Biogas is considered to be an excellent fuel
which burns without smoke. The main
constituent of biogas is :

(a) methane

(b) hydrogen

(¢) carbon dioxide

(d hydrogen sulphide

82. The depletion in atmospheric ozone layer in
last century was due to :

(a) chlorofluorocarbon

(b) carbon monoxide

(¢) methane

(d) pesticides

83. Which one of the following holds true for a
freely falling object ?

(a) It moves with a uniform velocity.

(b) It moves with a uniform speed.

(¢ It moves with a non-uniform
acceleration.

(d) It moves with a uniform acceleration.

FWLB-F-GAI

34.

35.

36.

317.

88‘

(13-A)

A sound wave of frequency of 2 kHz has a
wavelength of 35 cm in a given medium. How
long will it take to travel a distance of 2:1 km
through the medium ?

(a) 30s
(b) 21s
(¢) 30s
d 41s

Which one of the following conservation laws
is a consequence of the Newton’s third law of
motion ?.

(a) Conservation of energy

(b) Conservation of momentum
(c) Conservation of charge

(d) Conservation of mass

Which one of the following is a permeable rock
that allows water to pass through it ?

(a) Granite
(b) Limestone
(¢) Quartzite
(@) sil

Which one of the following is the deepest,
inland and protected port on the east coast of
India ?

(a) Chennai

(b) Paradip

(¢) Tuticorin

(d) Visakhapatnam

The greatest diversity of animal and plant
species is found in :

(a) Temperate forests

(b) Deserts and Savannas

(¢) Arctic and Alpine systems
(d) Tropical moist forests
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89. Which one among the following statements |42
about ‘Drumlin’ is correct ?

(a) It is a streamlined hill moulded in
glacial drift on the till plains.

(b) Itis a city located in central Europe.

(¢) Itisariver.

(d) Itis a narrow road in Tibet.

40, Which one of the following is the busiest sea 43.
route and links two industrially developed
regions of the world ?

(a) Mediterranean — Indian Ocean sea route
(b) The Northern Atlantic sea route

(¢) Cape of Good Hope sea route

(d) The North Pacific sea route

41. Using the code given below identify the type of
farming on the basis of given characteristics :

1. The produce is consumed entirely or
mainly by the family who work the land
or tend the livestock.
2.  If a small surplus is produced, it may be
sold or bartered.
3. It is generally small scale and labour
" intensive with little or no technological
i t.
inpu 4.
Code:
(a) Extensive farming
(b) Intensive farming
(¢) Subsistence farming
(d) Commercial farming
FWLB-F-GAI (156-A)

Car A takes 1 hour more than car B, which
travels at a speed of 60 km per hour, to cover
some fixed distance. If car A had doubled its
speed, it could cover the distance in 1 hour
less time than car B travelling at 60 km per
hour. What is the original speed of car A in km

per hour ?
(a) 30
(b) 40
(c) 45
@ 50

Suppose A, B and C are three taps fixed to the
bottom of a tank with draining capacity
1:2:3. When all three of them are on, it takes
1 hour to drain out the full tank. If A and C
are on but B is off, then how much time, in
minutes, will it take to empty out a full tank
of water ?

(@) 75

(b) 90

(¢ 105

(d 120

Assume that the Earth is a spherical ball of
radius x km with a smooth surface so that one
can travel along any direction. If you have
travelled from point P on the Earth’s surface
along the East direction a distance of nx km,
which direction do you have to travel to return
to P so that the distance required to travel is
minimum ?

(a) Eastonly

(b) West only

(c¢) East or West but not any other direction
(d) Any fixed direction

If x and y are two-digit prime numbers such
that y is obtained from x by interchanging its
digits and x — y = 36, then what is the value of
xy?
(a)
(b)
(c)
(d

1611
2701
4031
5603
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48. Sixty-four cubes of sides 2 c¢cm each are
combined to form a cube of side 8 cm. If four of
the smaller cubes along the diagonal of a
surface are removed from the surface of the
large cube, which one of the following
statements about the surface area of this solid
object is true ?

(a) It is equal to the surface area of the
large cube.

(b) It is less than the surface area of the
large cube.

(¢) It is more than the surface area of the
large cube.

(d) Insufficient data

47. Which of the following statements about
Organization for Security and Cooperation in
Europe (OSCE) are correct ?

1. There are total 57 states from Europe,
Central Asia and America.

2. It offers a forum for political
negotiations and decision-making in the
field of early warning, conflict
prevention, crisis management and
post-conflict rehabilitation.

3. OSCE has the primary responsibility of
providing military security in the
European Region.

4. The decisions of OSCE are legally
binding.

Select the correct answer using the code given

below :

(a) 1and2only

(b) 1,2 and 3only

(¢ 1,2,3and4

(d) 3and4only

FWLB-F-GAI

48.

49,

50.

(17-A)

Which of the following statements about Quad
is/are correct ?

1. It is a group of four countries, namely,
India, Australia, USA and France.

2. Maritime cooperation is an important
binding force among members of the
Quad.

3. The Quad members formed a working
group on COVID-19 vaccines.

Select the correct answer using the code given

below :

(a) 1lonly

(b) 1and2only

(¢) 2and3only

d 1,2and3

The National Human Rights Commission was
established under the statute of :

(a) The Protection of Human Rights Act,
1993

The Protection and Implementation of
Human Rights Act, 1993

The Human Rights Act, 1993

The Human Rights Commission Act,
1993

(b)

(c)
@

Which of the following is/are not an official
language(s) of the United Nations ?

1.  Arabic

2 German
3. Spanish
4 Chinese

Select the correct answer using the code given
below :

(a) 1and3only
(b) 1and4only
{(¢) 1and2only
(d 2only
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52.

FWLB-F-GAI

A FAGAH B G I T ol gat
F oo B gup FW F g =@ At I ard
Rt 22

(a) T

®) foems fewdu

() IATHLEIHTI

(d 8 & A™aA

foffgg st da ST adi 2 2

(a) Qe frsor B € 1

®) Uatg N R E |

() UdTa dea urgali @ = & € |

@ Tf VAT o ITF Tk U F &9 A HEA
B d |

Ioge, ath, fu ok MR # we o=

R ?

(a) ATFHSH

(b) A

() TIEgIo

(d) wEA

] aeHfe® e & wi R fr ifufsen @
-t g 3w et 2

(2) omHA

b Afm

(¢ EEGRA

@ -EeH

frdt saur ¥ el o B FEUSE (F1F)
g ST ] | 98 S@u P R

(a) GifEam wEs

(b) WRRRM FETS

(¢ FfRaam FEREE

@ ufeam e

56.

87.

(18-A)

fafafes & & shw smEm awa & A=
At & weag @7 @ ?

(a) TG R

(b) AT AR
(c) o AWM

(d) TUTHFOM AR

frafafa & @ e Aefeaad’ & & & s
ST o1 ?

(a) H¥E 9z O

(b) T ER g

(¢ W TR

(d) TIYTA TIOIY TR

-1 g1 @ gafem i ok gfet &

2 few T e T R ad s gf
g1 g-11
(83@r &er) (&)

A, TR 1. SW YW

B. HeMIREY 2. TEREIH

C. wreftsm 3. dmg

D. Trdteg 4. gRamon

He:
: B C D

(a) 3 1 2 4

(b) 4 2 1 3

) 4 1 2 3

@ 3 2 1 4

geahi 3t % @t w1 fafafea # @

w1 3wt gafera 727 4 2

@) 5 a7 : yreftgY W=

(b) R RAiai# ae  : WEd SO A
e sy :

(¢) 3R e : i ¥

(d). 39N Fur . HEWW T

T

https://www.pygonline.com/


https://www.pyqonline.com/

51. The method used in separating a mixture of | 56.
two miscible liquids having sufficient
difference in their boiling points is :

(a) Filtration
(b) Solvent Extraction
(¢) Centrifugation

(d) Simple Distillation 57

52. Which one of the following statements is
correct ?
(a) Alloys are mixtures.
(b) Alloys are compounds.
(¢) Alloys are always made up of metals.

(d) Al alloys contain carbon as one of their | 58,
components.

53. The common element in graphite, fullerene,
diamond and graphene is :

(a) Oxygen
(b) Nitrogen
(¢) Hydrogen
(d) Carbon

84. The gas generated on reacting zinc with dilute
sulphuric acid is :

(a) Argon
(b) Helium
(¢) Hydrogen

(d) Nitrogen

59.

85. An aqueous solution of a salt is known as

brine. The salt is :

(a) Sodium chloride

(b) Potassium chloride

(¢) Calcium chloride

(d) Sodium nitrate
FWLB-F-GAI (19-A)

Which one of the following commissions was '
not associated with public services in India ?

(a) Aitchison Commission

(b) Islington Commission

(¢) Lee Commission |

(d) Radhakrishnan Commission

Who among the following was _known as
‘Lokhitwadi’ ?

(a) Keshub Chandra Sen
(b) Gopal Hari Deshmukh
(¢) M.G.Ranade

(d) Gopal Ganesh Agarkar

Match List-I with List-II and select the correct
answer using the code given below the Lists :

List-1 List-11

(Harappan Site) (Location)
A. Nageshwar 1. Uttar Pradesh
B. Alamgirpur 2. Rajasthan
C. Kalibangan 3. Saurashtra
D. Rakhigarhi 4. Haryana
Code:

A B C D

(a) 3 1 2 4
b 4 2 1 3
(c) 4 1 2 3
d 3 2 1 4

Which one of the following pairs of books and

_ their authors is not correctly matched ?-

(a) Bandi Jiwan : Sachindranath Sanyal -

(b) The Philosophy : Bhagwaﬁ Charan
‘of the Bomb { Vohra

(¢) Indian Unrest : Annie Besant

(@) Desher Katha : Sakharam Ganesh
Deuskar
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60.

61.

62.
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60. Which of the following is/are important |63.
markers for the archaeologists to identify an
archaeological site as a ‘center of craft
production’ ?

1. Evidence of raw materials such as stone
nodules, whole shells, etc.
2.  Geographical expanse of the site
3. Evidence of unfinished objects, rejects
and waste material
4. Evidence of variety of pottery 64
Select the correct answer using the code given
below :
(a) 1lonly
(b) 1and 3only
(¢) 2and4only
(d 3only
4 65.

61. In humans, urea is mainly formed from the
metabolism of which one of the following
components of food ?

(a) Fatty acids
(b) Vitamins
(¢) Amino acids
(d) Glucose

62. The lymph is mainly formed from the plasma
of blood and it surrounds the cells. The main
difference between blood and lymph is : 66
(a) Lymph does not contain red blood cells.

(b) Lymph does not contain white blood
cells.
(¢) Lymph contains both red blood cells and
white blood cells.
(d) Lymph does not contain any cells.
FWLB-F-GAI (21-A)

For the digestion of carbohydrate, protein and
fat, enzymes such as amylase, trypsin and
lipase are required. It is secreted into the

duodenum through :
(a) Bile ’
(b) Plasma

(¢) Lymph

(d) Pancreatic juice

Lactic acid is formed in the muscles during
exercise or running. It is formed :

(a)
(b)
(©)
(d)

to give extra energy from fat.

to give extra oxygen from lungs.

to give extra energy from glucose.
to give extra energy from vitamins.

Fiscal deficit in the Union Budget means :

(a) the between
expenditure and current revenue.

difference curreﬁt

(b) net increase in the borrowings of the
Union Government from the Reserve

Bank of India.

(¢) the sum of budgetary deficits and the
net increase in internal and external
borrowings.

(d) None of the above

Which one of the following is the largest
component of revenue expenditure in the
Union Budget 2022 — 23 ?

(a) Interest payments

(b) Defense expenditure

(¢) Expenditure on healthcare
(d) Subsidies
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67.

69.

FWLB-F-GAI

Adequacy of foreign exchange reserves of a
country is captured by which of the following
indicators ?

1.  Reserves to import ratio

2.  Reserves to external debt ratio

3.  Reserves to GDP ratio

4. Reserves to monetary aggregates

Select the correct answer using the code
below :

(a)
(b)
(¢) 2,3 and4only
(d)

1 and 3 only
1,2,3and 4

1, 2 and 4 only

If all the people of the economy increase the
proportion of income they save, the total value
of savings in the economy will either decrease
or remain unchanged. This phenomenon is

known as :
(a)
(b)
(©)  Paradox of thrift
d

Crowding out

Crowding in

Paradox of prosperity

The banks are required to maintain a certain
ratio between their cash in hand and total

assets. This ratio is known as :
(a)
(b)
(¢) Central Bank Reserve (CBR)
Gy

Cash Reserve Ratio (CRR)
Statutory Liquidity Ratio (SLR)

Statutory Bank Ratio (SBR)

70.

71.

72.

(23-A)

A simple harmonic motion of a particle.
is represented as, y = 10 cos wt 10. The

acceleration of the particle at time t = 2—“- will
1)

be : (symbols here carry their usual meanings)
(8 10w

b)) -10@?

0 O

@
W

A wire of resistance R is cut into four equal
parts. These parts are then connected in
parallel. If the equivalent resistance of this

’

combination is R/, then the ratio % is:
(a)

(b)

()
@

—
el N ;l»—a

In experiment #1, a bar magnet is moved
towards a conducting wire loop axially, with
the magnet’s north pole facing the loop. In
experiment #2, the same process as in
experiment #1 is repeated except that the
south pole of the magnet faces the loop. Which
one of the following statements is true in this
context ?

(a) The direction of current in the loop will
be of opposite nature in both the

experiments.
(b)

The direction of current in the loop will
be the same in both the experiments.

(¢} No current will flow in either of the two
experiments.

(d)

More current will flow in the loop in
experiment #1.
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73, Fr=fafea ¥ & sF-a1, gedt W dew & ofed

74.

75.

FWLB-F-GAI

& wift =we Fa & 2

(a) 9t & g i afa

(b) gt W AT NG R PH

() Hg w1 g F IR AR qfEEaor
@ geft i o TR & IR T

frafafea FoAt w fem $ife

1. @9 fm 4 wnfomi — f&y, T ok
gg;%ﬁvﬁ(%ﬁq)ﬂ%mamﬂﬁm

|

2. 3 g W wE oA e At & 4 ¥
R

3. g @ =ym ol @t 1600 km X M
# @i & o9 I=ar § Fad 200 WX w5
FEE I

IYH F A Y PAA TH E ?

(@) 1,23W 3

(b) Had 23 3

(¢ Fad 13 2

(d haet 133

fFefafga st w foew fifse .

1. fova i «¢ geom wHa JEean 9z &
99 e €

2. TS Tad Y@ @Y 99 F FH TR |
g1
3. UHANEEIRE HeHh ¥ dEd @dl g4

ged ot € |
4. VAITANEH Heh A & ad 4
e dex S sargon |

I FoE A PAA T E 0
(a) Had 13K 2
(b) Hae 33 4
() Faa1,23M 4
d Haa1,23R3

76.

71.

(24-A)

g1 # G-I @ g hife it gfRel &

9 few 7w e w1 y@ W oad I g
gl g1
(s (#7)
HIATIcT)

A 0w 1. qfREn

B. Y 2. gfggor anhie

C. g™ 3. 390 mfE

D. 358 4. zfgoft smfem

®e:

A B o) D

(a) 2 1 4 3

b 2 4 1 3

© 3 1 4 2

@ 3 4 1 2

som () % w § P e

o S :

1. S W WA Say-aeEie wea
Hg W@ B, Wife 3 Ipan faw ik
E-EE 8 g i § I uea E |

2. sftem Wi, e Yn, SRS
RIS R aa ¥ |

3. A I =R § SaR (d@Rem) @t
sffor &1 dgH 3% A FH R |

I o o @ AR T E 2

Faer 130K 2

(b) A 13 3

(c) %adt 23 3

1,23 3

(a)

(d)
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78. Which one of the following correctly explains |786.
the change in seasons on Earth ?
(a) Tilt of the Earth’s axis
(b) Rotation of the Earth on its own axis
() Revolution of the Moon around the Sun
(d) Interaction of the Earth with other
planets
74. Consider the following statements :
1. The Great Northern Plains are formed
by basins of three distinct river systems
— the Indus, the Ganga and the
Brahmaputra.
2. They are one of the most densely
populated areas on Earth.
3.  Between the Yamuna at Delhi and the
Bay of Bengal, nearly 1600 km away,
there is a drop of only 200 metres in
elevation.
Which of the statements given above are
correct ?
(a) 1,2and3 7.
(b) 2and 3 only
(¢) 1land2only
(d 1and 3only
75. Consider the following statements :
1. Many of the world’s largest mountain
chains exist beneath the sea.
2.  Some mountain chains are revealed as
island arcs.
8.  The mid-oceanic ridges form the longest
mountain chains.
4. The mid-Atlantic ridge rises thirty-three
metres above the floor of the Atlantic.
Which of the statements given above are
correct ?
(a) 1and2only
(b) 3and 4 only
(¢0 1,2and4only
(d 1,2 and 3 only
FWLB-F-GAI (25-A)

Match List-I with List-II and select the correct

answer using the code given below the Lists :

List-1 List-II
(Temperate (Region)
Grassland)
A. Prairies _ 1. Eurasia
B. Steppes 2. South Africa
C. Pampas 3. North America
D. Veldt 4. South America
Code:
A B C D
(a) 2 1 4 3
b) 2 4 1 3
@ 3 1 4 2
@ 3 4 1 2

Consider the following statements about
millets :

1. Millets are often

climate-resilient crops because they can

referred to as

grow on arid lands with minimal inputs

and maintenance.

2. Millets are a good source of minerals,
dietary fibre, antioxidants and protein.

3. Millets, including sorghum, account for
less than 3% of the global grains trade.

Which of the statements given above are

correct ?

(a) 1and2only
(b) 1and 3only
(¢) 2and3only
(d 1,2and3
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Réer : ot WiT s et qeaw 7 @i #)|81.
R W g€ ader | s § 918 3 7@ onen
REwarR onrd

£ 14 A|lE|]T]|]O]| U
yfowraar | 20 |45 | 15| 8 | 12

78. WU % fhad guil ¥ fow, g § § F § feht
T it faremmar & wifRar 349 & aiftr & 2
(a)
(b)
(c)
(@

79. AW AR AA A A @R/ H, I AW F 9 | 82-
A wfteraar w=n ¥ S I Aftwaw SR st
22
6

< e oo

® 4129

80. 3R “0” 3 “U” wAF &9 ¥ 5040 TR I §,
R w3 B awe F g @ A, A g 4,
qQ A DR A’ U, JEW “E” Fhaft ar oar
22
(a) 11840
(b) 11600
(© 11430
d) 11340

FWLB-F-GAI (26-A)

aH AR a, b 3R ¢ i i gl Tl @

» %ﬁ;a+b+c=abc.

Frafeafan ot W fer i

1. a, b 3R ¢ H FHIR WA T yAq0l G
R

2. a, b 3 ¢ F FAHS 917 1 3K 2 ¥ i
qR

ST HYA § @ PAE /P Tl 2/ 0

(a) Had 1

(b) Had 2

(¢) 13K 23H

(@ JT@LAEL

Ul fraft -l st dva € 2@ 6w
T 3R 3l % ISHHT ¥ YT G&AT T IR
396 2 7 (foreft of it grIgRY 7 it ot B)
(a) 4

b 5

(0 50

d 40

Frafafas & & sla/aR3 w= o 2/8 2

1. S ®1 gg 81 U wiea @ Red
g SaEa & feem nguifes w9 @ w9
AR |

2. foepiw foehRe 3 &, 397 omg @t A
e g e R |

»ﬂ%ﬁqmwmmmaﬁmgﬁm

(a) a1
(b) A 2
(¢) 13K 23
(d TF@AL, T2
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Directions : The next three items are based on a|81.
survey on occurrence of vowels in a certain book
irrespective of whether they are in upper or lower
case.
Vowel A E I O\ U
Percentage 20 | 46 | 15 12
78. For how many pairs of vowels is the chance of
occurrence of any one of the two more than
34% in the book ?
(a) 4
(b) 5
0 6
@ 7 82.
79. Among the three vowels which occur
minimum number of times, what is the
percentage of occurrence of the letter that
occurs the maximum number of times among
them ?
6
42— %
(a) 7
5
(b 417% 83.
(c) 40:;-%
2
d 39-%
(d) 7
80. If “O” and “U”, irrespective of upper or lower
case, occur exactly 5040 times, then how many
. times does the letter “E” occur in the book in
the upper or the lower case ?
(a) 11840
(b) 11600
(e 11430
(d) 11340
FWLB-F-GAI (27-A)

Suppose a, b and c are three distinct natural
numbers such that a +b + ¢ = abe.
Consider the following statements :

1. The arithmetic mean of a, b and c is a
natural number.

2. The harmonic mean of a, b and c lies
between 1 and 2.

Which of the statements given above is/are
correct ? C :

(a8 1lonly

(b) 2only

(¢) Bothland2
(d) Neither 1 nor 2

How many three-digit numbers are possible
such that the difference between the original
number and the number obtained by reversinQ
the digits is 396 ? (no digit is repeated)

(a) 4

b)) 5
(c) 50
d 40

Which of the following statements is/are

correct ?

1 Population ageing is the process by
which the share of the older population
becomes proportionately lesser.

2. In most of the developed countries, the
population in higher age groups has
increased. -

Select the correct answer using the code given
below :

(a) 1lonly

(b) 2only

() Bothland?2 i
(d) Neither 1 nor2
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84. SrraTy awfReo % g wiad’ (ACE) F ar

. TEENE g TS RS TR 7

. $Hdd9-2023

FWLB-F-GAI

¥ frafafge 4 @ Sha/aRa 3@ @@

2/&

1. ¥ G (term) ! JEg IRadd T T
g g HAYH grT fieR RRar
?

2. 9% ¢ 4w aueid @ gefta @ |

Hi= faw me e W W = ad I g

(a) %ad 1

(b) Had 2

(¢) 13K 23mt

@ TAL,aTf2

1. 9§ 9§ 2030 T UH Hied eyl (FEa
) fawm w1 9 W FAQ F R
el 3R o Toge fRauifEl ® anf
T % w1 F fore cofa wedt 1

2. T UM e Wfw awsd A mew fEn
21

H fw T e w1 E = I ghn

(@) Had 1

(b) FaE 2

© 1323t

(d FALTE2

(KAVACH-2023) % &R ¥

frafafaa st & @ Sa/aA s /8 2

1. g WRd H dhmsti i wm *» e gy
que walt & weft i I B oon w3
g affi g |

2. I8 9RE @Al ¥ e & W AICTE
3R BPRD gRI &% &9 & WY e man
A T U T 1 24T B |

i faw e g2 1 T w=oad I ghn

() Had 1

(b) Had 2

(© 13K 23t

(@ JTAL T2

87.

89.

(28-A)

“erarer F” % g # i § & S

9 °9ft 73T 2 2

(a) ¥ ¥ Afenafer fAdvaet § /R
¥ 3R uiferwr fkg gT wmmor & sfw,

P, ugelt w1 weq s e T

R L

(b) W HSA B T TR g ot F7d & |

© I Avreahes favad seaEdn F
faftm it & awr v @ § R
g

(d) T 1 qoQ g TET TTHT 8000 BCE
H Wg0TE ¥ 9TH B R |

frfofea # & PR @ gevis vhew 7
??
(a)
(b)
(c)
(d)

s & Pramet #, il woifies S8t
# ¥ fraent 3@ e § 2

(a) TTEY

(b) e

(c) ga"!fﬁr&

(d) HiCER

A sy frent & sl § Pt st

FE A ot FF R 2

(a) AR % T A IR I wehvem e
g wreent 3 St fp |

(b) FV WD ¥ FEYH G F Rk S
e

(c) TV €1 F Ul H1 R, GuHedT I8
wwTel grr IR Ryt & aremt o |

@ ¥ T WA F REh I e ik ey
e F faftm woeli @ AR E

OoCP
CCE
NBP
BRW
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84. Which of the following statements is/are|87.
correct about ‘Action for Climate
Empowerment’ (ACE) ?

1. It is a term adopted by the UN
Framework Convention on Climate
Change.

2. This term is related to the Paris
Agreement.

Select the correct answer using the code given

below :

(a) 1lonly

(b) 2only

(0 Bothland2

(d) Neither 1 nor 2

85. What is ‘Climate Neutral Now’ initiative ? 88.
1. It encourages organizations and other

interested stakeholders to act now in
order to achieve a carbon neutral world
by 2030.

2. It derives its aims from the Paris
Agreement.

Select the correct answer using the code given

below : 89.

(a) 1lonly

(b) 2only

(¢ Bothland?2

(d) Neither 1 nor2

86. Which of the following statements is/are
correct about KAVACH-2023 ? 90.
1. It is a joint coordination committee of all

three wings of India’s armed forces to
protect India’s borders.

2. It is India’s national level hackathon
jointly launched by AICTE and BPRD to
tackle cyber threats.

Select the correct answer using the code given

below :

(a) 1lonly

() 2only

(¢ Bothland2

(d) Neither 1 nor 2

FWLB-F-GAI (20-A)

Which one among the following statements
with reference to the ‘Neolithic Period’ is not
correct ?

(a) The characteristic features of the period
included ground and polished stone
tools, agriculture, animal domestication
and pottery.

This period is also known as the New
Stone Age’.

The characteristic features appeared
almost at the same time in various parts
of the subcontinent.

Earliest evidence of agriculture is found
from Mehrgarh around 8000 BCE.

(b)

(©

d)

Which one of the following is mot a pottery
type ?

(a) OCP
(b) CCE
(¢) NBP
(d BRW

Which one of the following political centers
finds a mention in Ashokan inscriptions ?

(a) Indraprastha
(b) Kaushambi
(¢) Suvarnagiri
(d) Kandahar

Which one of the following statements with
reference to the ancient Indian coins is not
correct ?

(a) The Indo-Greeks issued the first coins
bearing the name and images of rulers.

(b) The Kushanas issued the first gold
coins.

(¢) The Kushana gold coins were different
in weight from the coins issued by
contemporary Roman emperors.

(d) These Kushana gold coins have been

found from several sites in north India
and central Asia.

https://www.pyqgonline.com/


https://www.pyqonline.com/

91..

- 98.

Ww I A g F W F Fffem FFE w

ﬁi‘l’(m:

1. o (3w a9) # fi yer B s
IR Wit @ — T (Eeanh H
afw), mEEfE  ([@ ) sk
Ffaonfer (gfmrafir) |

2. W ST @ R 3 stfat o Rfm e

% F8 § wfm R wmr o, el
Y % fan anier, emEw e ¥ R
TR 3R gfigontiy & i sraaRR |

IR FEE § } FE/HEA wd 2/E 2
(a) ¥ad1

(b) Had 2

(© 1323t

@ @1, TE2

He diedwt A soRer<i® o, E-amatEm
Temr FEl | A T TR § 2

(a) mmm

(b) HIHYE Y&

(© 0 w&a

@ e It ¥t afemi

e % R § fafafee s w few

- #ift

1w, 3 yomphel o weer §
Tt € |

2 . YERYE T 6 e e A R
Foress weg & arfirram ded Bt @

3. woaH % 2N R B wH w E
I woEl § ¥ Wan/aeE wd /¥ 0
(@ Fad1de

) Fad 23R

(¢) haw 13k 3

(@) waw 3

" FWLB-F-GAl

94.

95.

(30—A)

Frafafga wut w far fifdm .

1.y St & SEm faga SareT ¥
- Tre fomm s weRar & I wak 9@ @@
I €Y 3wen, FR, T i weE &
fere fopa st war B |

2. o & $® o= didl A gorn § Tfitehig
Sl T qEA B R |

3. 9N fage g Wl H w@N ¥ W9
T F o favew et &1 g =@ # |

7Y HYEl § § WA/ a2/

(a *ad 1

(b) 1,23R3

(¢) Haet 13K 3
(d) Haw 233

g1 # G-I & gaferm Aif ot gfRel %
2 Re 1T g w1 v = @ sw g

gl -1

(HARTHT ()

FIT)
A ViFEH HavH 1. AT MR F
QAT WA iR

drgeh

B. fmmmar w499 2.
C. 989 %oy 3.

D. (edn a9 4.

et S wewe
IR T AETZH
forga

AT YRS #

dmrliy duem 3l
o Fgem
%

(a)
(b)
(@ v
@ 2 3
Hivew g7 B RS s a3m sra aw
2004 WMR # IHGW [EEE H fulg
Freferfa & @ fred safm & 2

(a) NI H AR

(b) firen ¥ f&ar ¥ favg erftren

(¢) I &1 AYHR

) hw foamor w1 AR

A

1
1
2

-
W w A
R Sl
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91. Consider the following statements about the }94,
practice of Vedic sacrifices :
1. The shrauta (Vedic sacrifices) involved
the use of three fires — the garhapatya
(householder’s fire), ahavaniya
(offeratorial fire) and dakshinagni
(southern fire).
2.  These fires were supposed to be placed
in pits of different shapes, i.e., the
garhapatya to be square, ahavaniya to
be round and that of the dakshinagni,
rectangle-shaped.
Which of the statements given above is/are
correct ?
(a) 1lonly 95.
(b) 2 only
(¢ Bothland?2
(d) Neither 1 nor 2
92. Trans-Siberian Railway from St. Petersburg to
Vladivostok does not run across :
(a) Altai range
(b) Caucasus mountains
(¢ Ural mountains
(d) Ob and Yenisei rivers
98. Consider the following statements about
Barchans :
1. These landforms are found in Thar
desert in India.
2. The windward side has concave slope
with maximum height at the centre.
3. Two ends of the barchan are called
horns.
Which of the statements given above is/are 96.
correct ?
(@) 1and2only
(b) 2and3only
(¢) 1land3only
(d 3only
FWLB-F-GAI (31-A)

Consider the following statements : :

1. Geothermal energy can be used to
produce electricity or its hot water can be
used directly for industry, agriculture,
bathing and cleaning.

2. Nuclear energy is often cheaper than
some other sources of electricity.

8. Thermal power stations burn fossil fuels
to create steam to drive the turbines.
Which of the statements given above is/are

correct ?

(a) 1lonly

() 1,2and3
(¢) 1land3only
(d) 2and3only

Match List-I with List-II and select the correct
answer using the code given below the Lists :

List-1 List-I1
(International (Theme)
Convention)
A. Stockholm 1. Hazardous chemicals
Convention and pesticides in
international trade
B. Minamata 2. Persistent organic
Convention pollutants
C. Basel 3. Binding instrument
Convention on mercury
D. Rotterdam 4. Transboundary
Convention movement of
hazardous wastes and
their disposal
Code :
A B C D
(a) 1 4 3 2
b 1 3 4 2
@ 2 4 3. 1.
@ 2 3 4 1

The Judgment of the Supreme Court in
Peoples’ Union for Civil Liberties v. Union of
India 2004 is related to which of the
following ? ’

(a) Right to Shelter

(b) Right against Custodial vxolence
(¢) Right to Information

(d) Right to Speedy trial
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97.

98.

lm.

FWLB-F-GAI

frafafga & @ e, 5 yosfieor @

et ® 7

(a) I YW ST AW U5 FRIT 3K I
(1975) :

R T Flrge, TaAR T Rradia

YT (1976) :

() Sal B7%T T T G G (1978)

@ TR acveft Fam f.we. et (1978)

HRd % HlouW ¥ geaq 226 & NN I
e A wied % day § Prafafea § @
H-H o 6 T R 2

(a) I7 4 TeaEhwtor, qoTey, AfER-y=aT,
I 3R gfedy fe Il = wwar &

WALl g Yed Rl ff iR @
vafda = iR g et oft e &
fore fiz I fope S @ B

7E WRF Agedg 322) ¥ o W
A H e AE w B W
wHdt 2 |

Teh AfERIET & i et off ittt
! e I fomn s g @

freffea f a Sma s @i 2 2
(@) SYERS *H Dew, < fafyr w fum
THadl gt & orefie o fowa @

(b) WM gwar MR faren wwadt gt %
el faar &

(0 JFaisHE =AmR R Tifey T~ gt &
atf o g ?

@) TFHKl wad T gt S o R |

‘e Ay Uodw w=w iR ‘Wiedw
Faym fafafga § @ fred defia € 2

(a) HfeA % ga AR

(b) SHRI T T

(c) Wﬁ‘@wm

(b)

(b)

(@

(d)

@ afEt = g

101.

102.

103.

(32-A)

HaT 1 QU W FrReE & a) # el

¥ B/ BAR e ad 7@ 2/E 2

1. R &t miwd ot F f
SAarer deE § gl fuges ok
= fa waa i qae R |

2. @ ghirm, = ok EagE®
a4 3@WTe 9y el § |

3. W WA W PI &H Hfga @ A
TR a1 R |

4 I® TR W ¥ FMT T F R

%ﬁﬁ»—c\maﬂtﬁwmﬁmm
|

H= e T Fe w1 W W Th I g

(a) aw 1,233

(b) haw 2 3R 3

© Fad 1,234

@) HaA3

gam % After afufam, 2005 % W #

frafafea 3 @ Sa/aR8 s ad /€ 2

1. GO A IS aR/E (12) N |

2. Y& GEAT Y dtg o9 A afy & R
g YROT FHAT |

3. Y& Yo IJgw FRIRe % faw um
W |

2 g T Fe 1 @ W 9@ W g :
(@) a9 1

b) FaS 2

(¢ aa 132

@ 1,23M3

frafaflaa 3 @ veen amis oeam a7 @1 S
gearfa & i wwn #1 ey Faifaa gon 2
(@ W A o ’
® #EFES

(c) G wesll

(d W.u @
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97. Which among the following deals with Habeas | 101.
Corpus ?

. (a) State of Uttar Pradesh v. Raj Narain
" and Ors. (1975)

(b) Additional District Magistrate, Jabalpur
v. Shivakant Shukla (1976)

(¢} Mrs. Maneka Gandhi v. Union of India
(1978)

(d). Nandini Satpathy v. P.L. Dani (1978)

98. Which among the following statements
regarding the powers of the High Courts
under Article 226 of the Constitution of India
is not correct ?

(a) It can issue writs of habeas corpus,
mandamus, quo warranto, certiorari,
and prohibition.

(b) Writs can be issued to enforce any rights
conferred by Part-III and for any other
purpose. 102.

(¢) This power can derogate the power
conferred on the Supreme Court under
Article 32(2).

(d) Writ can be issued to any authority
under its jurisdiction.

99. Which among the following is not correct ?

(a) Legislation on criminal law, barring

"~ exceptions, is a subject under the
Concurrent List.

(b) - Bankruptcy and Insolvency are subjects
under the Concurrent List.

(c) Inter-State trade and commerce is a
subject under the State List.

(d) Banking is exclusively under the Union
List.

103.

100. ‘Basel Convention’, ‘Rotterdam Convention’
and ‘Stockholm Convention’ relate to which of
the following ?

(a) Human Rights of Prisoners _

(b) Management of Pollutants

(¢) Conservation of Wetlands

(d) Conservation of Rivers

FWLB-F-GAI (33-A)

Which of the following is/are not correct about
the Mother’s Absolute Affection Programme ?

1. Allows all pregnant women to absolutely
free and no-expense delivery in public
health institutions.

2. Provides assured, comprehensive
quality antenatal care.

3. Promotes undiluted focus on breastfeeding.

4. Provides medical and nutritional care to
severely acute malnourished children.

Select the correct answer using the code given
below :

and

(a) 1,2and 3 only
(b) 2and 3 only
(¢) 1,2and 4 only
(d 3only’

Which of the following statements about the
Right to Information Act, 2005 is/are correct ?

1. There shall be not more than twelve (12)
Information Commissioners.

2. The Chief Information Commissioner
shall hold office for a term of five years.

3.  The Chief Information Commissioner is
eligible for reappointment.

Select the correct answer using the code given

below :

(a) 1lonly

(b) 2only

(¢) 1land2only

d 1,2and3

Who among the following was the first
pro-tem Speaker to be unanimously elected as

the Speaker of the Lok Sabha ?
(a) Rabi Ray

(b) Hiren Mukherjee

(c) Somnath Chatterjee

(d) P.A. Sangma
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104.

105.

106.

FWLB-F-GAI
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104. Consider the following statements with
reference to Jainism :

1. Vardhamana Mahavira attained
Kaivalyajnana outside the town of
Jrimbhikagrama, on the banks of river
Rijupalika and in the field of a
householder named Samaga.

2. The state when the Karma particles
actually begin to flow towards the Jiva
to bind it is known as Asrava.

Which of the statements given above is/are

correct ?

(a) 1lonly

() 2only

(¢ Bothland2

(d) Neither 1 nor 2

105. Consider the following pairs with reference to
textiles in Southern India :
(Tax) (Meaning)
1. Panjupeeli on cotton yarn
2. Nulayam on cotton thread
3. Tari kadamai on silk clothes
4, Sella on silk thread

Which of the pairs given above is/are correct ?

(a) 1lonly

(b) 1land2only

(¢) 2,3 and4only

d 1,2,3and4

106. Which one of the following animals does not
come under the category of four noble animals

(Maha-Ajaneya Pasu) carved on the round

drum (Anda-Phalaka) of the lion capital at

Sarnath ?

(a) Deer

(b) Lion

(¢) Bull

(d) Horse

FWLB-F-GAI

107.

108.

1090

110.

(35-A)

The ruler Vindhyashakti during the period
preceding the Gupta Age is associated with
which one of the following dynasties ?

(a) Vakatakas
(b) Chalukyas
(c) Kalachuris
(d) Sungas

The ancient Indian medical treatise for horses
called Ashvashastra is attributed to which one
of the following persons ?

(a) Vagbhatta of the seventh century

(b) The sage Shalihotra v
(c) Bhartrihari of the séventh century
(d) Varahamihira of the sixth century

The celebrated group of poets in medieval
Mathura and Vrindavana ecalled the
Ashta-Chhapa were the successors of which
one of the following medieval Bhakti Saints ?

(a) Kabir of Benaras

(b) Chaitanya of Bengal

(¢ Guru Nanak of Punjab

(d) Surdas of Braj region

Consider the following statements about

Laterite soil found in India :

1. Laterite soil is found in high altitudes of
Himalaya.

2. Itis avery fertile soil.

3. It is a red colour soil due to presence of
iron oxide.

4. It is poor in Nitrogen, Potash and organic
matter.

Which of the statements given above is/are

correct ?

(a) 3only

(b) 2and 4 only

(¢©) 3and4only

(d 1,3 and4only

https://www.pygonline.com/


https://www.pyqonline.com/

111. YR ® IME I archt T 6 waa F SR §

112,

113.

FWLB-F-GAI

frefafgm d a R a T w2 2

(@) I W wRa F g wml F I 9w
et o et (i) woe 2

(b) 9% a3 A= F i @ I Tl @
A R |

(c) ¥E WA, Teh! Fell R qGS gHE TG W
IME I et ai-IuH wEA R |

@ T 20 faft AfREE it 30 Faft AfRew
% 9 ¥ ave 3R 50 - 100 cm H Tl
F I ST @

I g & 9§ Fefafe w6 w ffEr
Hifore

1. WIREIW G ) da & |

2. W T AEeH Aaare 1 R |

3. WRfadmamadad|

4. S@ce afFEd AT AT R |

Iod wYAl @ PR T € 2

(a) ¥ad 1,2 3N 3

(b) Fast 334

(¢) whaw 132
(d %ad 1,334

g # THE gy vl % WR o Frefafea
HeA R fEr fifd .
1. Tfgeme sifia fred wgail 1 e # |
2. faew #i, e e ity (wfefi) &
w9 8, suad Siafe @ s R |
3. ARl Ayl W St T ()
w1 oft STEE § )

4. @ NG mif Flt A Tt \wa
éﬁ%ﬁ-ﬁa@%{)wmaﬂtmw
|

SEE A A A BTA TR E 2

(a) had 133

(b) Fad 1,3 34

() ad23fyg

@ 1,233NR4

(36

114. AR F Aiwes siw #, T (AW S

115.

116.

-A)

7 Ffafes § & S gg-fmfu sfwn afq
TR 2

(a) AT

(b) UTESHIEAvaH.

(0 AW

d) e

qgq AR wesd (B oggw) % +m #
e i a sarwA a@t 2 2

(a) I= TR (¥ oES) Mwd 3= AR @
=@ A § Ik P s (@ ame)
Mad e sER A= AT R |

I SR 3ftHd 3= san @ e Aar @
i i sar Nwa e =R ¥ 3=
BT R

I S9N Ha I SR q I=A AT 2
3R f= R siea fim war & e
BT g |

39 SR a3 SR ¥ e g 2
3k e s w ft|e e sSr @ freaR
BT g |

IPL T ilie & ikt & Fraffem woi m

foram Hifdre

1. aﬂﬁﬁﬁuﬁﬁ?{qﬁaﬂaﬁnﬁml

2. e & ule dewwml # 9= gw fhw
T T W (TR-39) BT |

3. oA sraudl W, v few # @en m |

I wuEl § @ BT/ v R/ 2

(@ 1,23R3

(b) hae 23 3

(0 haa 13t 2

d) Fad3

(b)

(©

(D

https.//www.pygonline.com/


https://www.pyqonline.com/

111. Which of the following statements about Ragi
crop grown in India is correct ?

(a) It is a millet crop grown in drier parts of
south India.

() It is a Rabi crop sown between
November and March.

(¢0 It is a rainfed crop grown on red, light
black and sandy loam soil.

(d) It is grown between 20 degree Celsius
and 30 degree Celsius of temperature
and 50 — 100 cm rainfall.

112. Consider the following statements about rock
structure :

1. Conglomerates are clastic sedimentary
rocks.

2.  Slate is a non-clastic sedimentary rock.

8.  Granite is a plutonic igneous rock.

4. Basalt is an extrusive igneous rock.

Which of the statements given above are

correct ?

(a) 1,2and3only

(b) 3and4only

(¢) 1land2only

(d 1,3and4only

113. Consider the following statements about

Ramsar Wetland sites in India :

1. Gahirmatha is the habitat of Olive
Ridley Turtles.

2. = Chilka lake is the habitat of Irrawaddy
Dolphin as its flagship species.

3. Nalsarovar Wetland is also the habitat
of Indian Wild Ass (Khur).

4. Tso Moriri Wetland is the habitat and
breeding ground of Black-necked Crane.

Which of the statements given above are

correct ?

(a) 1and3only

(b) 1,3 and4only

(¢ 2and4only

d 1,2,3and4
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114.

115.

116.

_A)

Which of the following soil formation process
takes place in Phumdis (floating fields) in
Loktak Lake of Manipur ?

(a) Laterization

(b) Podzolization

(¢) Gleization

(d) Calcification

Which one of the following statements is
correct about Spring tides ?

(a) High tide is higher than average high
tide and Low tide is higher than average
low tide.

(b) High tide is lower than average high
tide and Low tide is higher than average

low tlde

ngh tlde is higher than average high
tide and Low tide is lower than average
low tide.

High tide is lower than average high
tide and Low tide is lower than average
low tide.

(c)

d

Consider the following statements about IPL
cricket tournament :

1. Two teams won the tournament five
times each.

2. Chennai Super ngs remained
runner-up in five editions of the
tournament.

3.  On three occasions, the final was played
abroad.

Which of the statements given above is/are
correct ?

(@ 1,2and3

(b) 2and 3only

(¢) 1and2only

(d 3only
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117. Consider the following statements about
Khelo India University Games (KIUG) :
1. The first edition of KIUG was held in
QOdisha.
2. The name of the mascot of the third
edition of KIUG was Jeetu.
3.  The first edition of KIUG was postponed
due to COVID.
Which of the statements given above is/are
correct ?
(a) 1,2and3
(b) 2and 3 only
(¢ 1and2only
(d 3only
118. Exercise Ajeya Warrior is a biennial training
event between the Indian Army and the army
of:
(a) Nepal
(b) United Kingdom
(¢) Russia
(d) Japan
119. The journey of the First Phase of Sagar
Parikrama Yatra, an initiative of the
Government of India, was started from :
(a) Andaman and Nicobar Islands
(b) Maharashtra
() Karnataka
(d) Gujarat
120. The annual Kheer Bhawani Mela is organized
at:
(a) Kabaw Valley
(b) Kashmir Valley
(c) Dah Hanu Valley
(d) Upper Dibang Valley
FWLB-F-GAI (39

121.

122,

123.

124.

125.

—-A)

NISAR satellite is manufactured jointly by
Indian Space Research Organisation and : -

(a)
(b)

Japan Aerospace Exploration Agency

National Aeronautics and Space

Administration
(¢) Russian Federal Space Agency

(d) European Space Agency

‘Operation Kaveri’ is a rescue operation
launched by the Government of India to
evacuate Indian citizens who were stranded
in: '
(a)
(b
(©
(d

Kuwait
Ukraine
Afghanistan

Sudan..

‘Rail Vikas Nigam Limited’ is a :
(a) Maharatna CPSE

(b) Navaratna CPSE

(¢ Miniratna I CPSE

(d Miniratna II CPSE

What are Airawat, Param Siddhi, Pratyus and
Mihir? .-

(a)
(b)
()
(d)

Super Computers of India
Battle Tanks of India
Supersonic Missiles of India
Indian Naval Ships

Which one of the following Indian Naval Ships
has recently concluded a 17,000-nm
trans-ocean intercontinental voyage ?

(a)
(b)
(©
(d)

INS Tarangini
INS Mandovi
INSV Mhadei
INSV Tarini
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